Direction : Answer the following question
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s (Q. Nos 1 to 30) by selecting the correct/most appropriate options,
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Mastery Oriented learners typically attribute success to and failure to _
ility and effort; insufficient effort

(1) ability and good luck; low ability (2).- .ab
(3)  ability and good luck; task difficulty (4)=ability and effort; bad luck
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Assertion (A) : Scaffolding provided by the teachers hinders the learning process of children.

Reason (R) : Lev Vygotsky proposed that children learn independently by acting upon and
manipulating the environment, .

Choose the correct option :

(;_) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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Assertion (A) : Teachers should distance ther :
(A) N Toiicy for leatming on therrrnlsoenll\;es from students and place primary
Reason (R) : Learning takes place affectively in an authoritative rather than a democratic
environment. K

Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) Both (A) and (R).are falsg. o
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4. In developmental terms, a time frame where an individual upholds an amplifi itivi
' P s T : \ n 1 : amplified sensitivity to
particular incentives for developing particular skills to function in a icient i
pait £ Sl ) n efficient manner. is referred
1) Crlhca.l perxo.d (2)  Encoding period
(3) Incentive period b (4)  Stimulus period
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5.  Dysgraphia is characterised by :
(1)  Lack of reading fluency

(2) Repetitive behavioural patterns

(8) Delayed motor skills ot (4) Difficulties in writing
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6.  Lawrence Kohlberg argued that :
(1) moral development occurs progressively in stages.
(2)  there are gender differences"in moral reasoning of children.
(3) moral development in childreh occurs in a continuous manner.
(4) there are cultural differences:in moral reasoning of children.
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7. Children learn better if they experience :

(1) High degree of anxiety to perform (2) Learned helplessness
(3) Low level of alertness during activity  (4) Moderate level of excitement to learn
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Which of the following statement-_‘jjré"’presents ‘Proximodistal’ principle of development ?

(1) Children develop ability to.grasp the ball before putting beads in thread.

(2) Children develop ability to/sit"up before standing.
Development is multidirecional and multidimensional.

8
24; Identical twins living in difféerent cultures can develop at different rates.
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9. According to Vygotsky children speak to themselves :
(1)  Because they are egocentric.
(2)  Because their thought is illogical.
(3)  To aid thought and for self-regulation.
(4)  To provide self-reinforcement when adults are ignoring them.
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10.  According to Vygotsky's theory of learning an&iievelopment, which of the following is an example
of scaffolding ? '

(1) Providing a student with a reading .g:;ériwgnment and asking them to answer questions -
independently.

_(2)/ Demonstrating a skill to a student and then having them master it on their own.
3) Breaking a task down into smaller steps and providing support as needed.
(4) Providing a student with a grade for their work as motivation.
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11.  Which of the following correctly describes ex’Ejﬂsm motivation ?
(1) Motivation that comes from personal enjoyment of the task.
(2) Motivation that comes from internal factors.

(3) Motivation that comes from environméfital consequences.
Motivation that comes from a sense of:personal satisfaction.
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Children - ok

Yo o

(1)  Are greatly influenced by the social cultural context they grow up in.

kY

(2) Come into this world as tabula rasa or blank slate.
(3)  Are born unruly and need to be socialized.
(4) Come into this world with genetic codes:that determine their destiny.
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13. Assertion (A) : Children below the age of 5-6 1
and ‘within the lmesg years should not be pressurwed to write “proper y’
Reason (R) : Children gain a control of finer motor skills from 5 - 6 years onwards /

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not:the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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At which level of Kohlberg’s moral development does md1v1dual’s ethical behavior mainly depends
on the mindset that “what do people think of me”?
(1) Preconventional » (2) .Conventional
Postconventional (4) Non-conventional
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Teachers should use multisensory materials to cater to needs of students in an

14.

15. Assertion (A) :

inclusive classroom. s
Inclusive classrooms should’ adopt standardization of curricular materials as well

Reason (R) :
as assessment strategies.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanatlon of (A).

(3) (A) is true but (R) is false. :

(4) Both (A) and (R) are false.
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16.  Children often come up with their own explanations of events around them. On being probeg
to why docs it rain Sia says - “God was lired of carrying the buckets of water on his ShouldErSas

Such explanations :
(1) Prove that children’s thinking is much lesser than adults quantitively.

(2) Indicate that children have naive understanding rooted in their cultural context with which

they try to understand events,
(3)  Depict that children have an egocentric view
(4) Hlustrate that children are not capable of any reasoning.
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17. Piaget described cognitive development as occurring in :
(1)  Four qualitatively different stages
(2) Three progressive levels
(3) A continuous continuum
(4) Four overlapping culture spec1f1c stages
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18. Assertion (A) : Teacher should encourage boys® of her class to participate in sports while assigning

art decoration to girls.
Children acquire gender roles primarily because of the underlying biological

differences.

Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false. s

(4) Both (A) and (R) are false. v
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and cannot consider other’s viewpoint,

Reason (R) :
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In order to cater to needs of students sty i : ; i ;
teachers should avoid : ruggling with Attention Deficit Hyperactivity Disorder

) Breaking th.e task into small easily manageable parts

(2) Using multi-sensory materials

6) Creating distractions and making noises

(4) Flexibility in curricular materials and instructions

foregl 1 EATT =L SR form & S 1@ il 0t snrvesRaisti 1 o1 T

& e e T
(1) & B AW F Weier “Fﬁﬁ‘vﬁtcﬁ
) FE-HAS! WHM H I H ;
@) fEinRdRww b S
W) T TR S P e

20. Kinesthetic learners prefer to learn through

(1) doing and moving (2) listening
(3) seeing (4) touching
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21. During play time at school, Rishab, a 7;;z§ea5r-old boy picked a doll to play with. Some. of his peers
made fun of him for his choice of toy. Asateacher who wants his students to grow up with gender
role flexibility, which of the following would be the best response to the situation by the teacher ?

(1) Let Rishabh play with doll and teﬁ%iher children that they can also choose any toy of their
choice. :

(2) Quitely take away the doll and gn:ze~a car toy to Rishabh without saying anything.

Talk to Rishabh that dolls are suitable for girls and boys should not play with dolls.

()
(4) Tell Rishabh that he should play with something else because his friends won’t approve of
him playing with doll.
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22,

23.

24.

25.

Effective teachers familiarize themselves with daily lives and SoCio'“‘l\tu
X

backgrounds of learners.
Reason (R) :  Learning takes place in a social context.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false. s

(4) - ‘Both (A) and (R) are false. sl
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Inclusion needs to be promoted through : ' "
()  Flexible curriculum (i) Cooperative learning ' 28.
(iii) Segregation and labelling (iv) Accessibility of building ™
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ble to understand the logic behind 51mple mathematic
reversals such as 4+5=9 50 9—5=4, it 1s because of :

(1) egocentrism (2) perceptual centration

(3) animistic thinking @) irreversibility
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In the constructivist view : ' 0.
(1) Learning is extending and transfofmmg the current understandmg
(2) Learning is simply writing associationis on the blank slates of our brains.
(3) Individuals are passively mﬂuenced,’hy environmental events.
(4) Individuals are conditioned to lea#n few behaviours.
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In order tO help students to become good problem solvers, a teacher should emphasize on the
' In :

racncbieziing large complex problems into smaller manageable problems,

; centering only on one particular piece of information related to problem,
3 focusing on 111[01'mat101} that confirms exisling, b.cliefs and preconceptions.
“) approaching problems in a particular fixed fashion,
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27. Meaningful learning is primarily NOT about i+
. (1) constructing knowledge gy

2)  developing skills
(3) memorizing information 2) Ping

w==:  (4) understanding the concept
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28. Challenges in social communication are evident in :

(1) Autism Spectrum Disorder (2) Learning Disabilities

(3) Attention deficit hyperactivity disorder (4) Cerebral palsy
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29. Twoimportant cognitive development milestgr—;;es%of sensorimotor stage of Piaget’s theory of cognitive
' development are : i
(1) - Object permanence and deferred imitation .
(2) Reversibility of thought and hypothetic:deductive reasoning
(3) Animism and Transformation il
(4) Classification and seriation o = .
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30, According to Howard Gardner while a scientist would exhibit high Intelligence, a
~ Sculptor would have high _______ Intelligence.
Logical-mathematical; Bodily Kinesthetic”
2)  Spatial; Bodily Kinesthetic &
(3) Naturalistic; Spatial . s
S@%@ Transductive; Spatial
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PART - 11 / 91T - 11
MATHEMATICS /

correct/most appropriate options,

Direction : Answer the following questions by selecting the
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76 is : q O

31. The difference of the place values of 5 anﬁl 7 in the number 3528 e (M 3
; msszsmﬁsaﬁw%wﬁamﬁww,%: ¢
» 49997 (4) 50007

(@) 49930 (2) 49993 FENC)

foblems because :
" ddition, subtracti 3
d to know @ tion and multiplicaty,

32. Students feel difficulty in solving division.p

(1) For solving division problems studentsnee
thoroughly . e

(2) Students do not like the sign of divis

(3) Division problems have no utility in

(4) There are no informal ways of solving

Wﬁ@mﬁmmmﬁﬁmm%m;
uﬁfWﬁmﬁwwamww%ﬁmﬁw,m@?Wmmmgw

2 foremeft T B o UG A W

€) mﬁwwaﬁaﬁ%ﬁmsﬁa?ﬁaﬁé;mﬂﬁ%

@ mﬁmﬁﬁmw%m@%j@wﬁwﬁfmﬁﬁ%

1 isa hultiple of 6,7 and 4 is :

ion.
daily life.
division problems

33. The smallest four-digit number whic :
Wa?ﬁaﬁagwa@r,sﬁmafmmw%,ﬁﬂ%: ‘
(1) 1000 (2) 1002 et (3) 1006 /(Aa/loos

34. Which of the following statements is NOT true with respect to the concept of Fractions ?

(1) It represents a part of a whole which is greater than 1
(2) The mathematical notation of a fraction can be represe

(3) Itrepresentsa part of a collection of same objects
(4) The mathematical notation of a fraction can be represented as a ratio
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5.

36.

Which of the following is most appropriate for including open ended questions in mathematics
class ?

(1)  These questions take more time to solve

(2) These questions are not easy to copy (rom each other

(3) These questions develop critical thinking in students

(4) Answers to these questions are not given in the book
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Jasmine said, “A rectangle has two pairs of opposite sides parallel; a square also has two pairs of
opposite sides parallel and so does a parallelogram. So, both rectangle and square are also
parallelograms.” Wt 2

Jasmine is at

(1) Analysis

(3) Formal Deduction (4) Visualizz

Q

S 3 e, e ot B fawia gmﬁ%awwﬁ;@%%@aﬁﬁ off fawdia ensti & &1 g™
Wm%@tﬂmwmﬁma@ﬁaﬁ off | gHferT T SR ot S & TEmiER =g s

S, 4 %01 % fagia & safadE e P W T
(1) foreerom 2) HaHl w qHH
By direnfe fre (4) ?d'w“{%

P

LT g



37. What is the result when 7 kg 7 g is subtracted from 9 kg ?
9kg® | 7 kg 7 g T HRM W 1 GROM WIw B § ?
(1) 1.3 kg _(2)~ 1.993 kg (3) 1.93 kg (4) 1.093 kg

"
38. A triangle having all sides of different lengths is called :

(1) An equilateral triangle _ (2) An isosceles triangle
(3) A scalene triangle s (4) A right triangle
T Pt et et o srer-svem e W A €, e ¥
B) T foumsTg figw (4) TS qEH s
39. A child solved a problem : %"‘ % . % What is the most appropriate inference drawn from t

solution ?

-
1 EERES

(1) Child does not know addition of numbers

" ‘.n

(2) Child does not know how to take L:CM.

(3) Child does not know how to représént fractions on number line

(4) Child has extended the concept of addmon of natural numbers to addition of fractions
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are true with respect to ‘Data handling’ ?

P-1 (M ur

41. Which of the following statements
1) A graphical repr esentation of dala is easier to unders tand when there is a trend of comprrioh
to be shown. e
(2) A bar graph displays data thét changes continuously over periods of time,
(3) A line graph is used to bhO\V LOlTll)ElllSOl'l among categories of data.
(4) A histogram is used to compg;g the parts of a whole.
‘aﬁasﬁa:rw’m '3 ey FreTfafad § ¥ w9 §?
(1) mmm@mmhqmﬁa@mm@m% <rel ot STHSl 1 T M Jor Femr 3
Q) T Te-oTE U SRS FEgd H §, S G W T SRR sfeerd &d €|
3) w%@—mmﬁﬁfmaﬁ@%aﬁawwéﬁmmﬁl
4) @M%W@W%ﬁf%qﬁﬁww%mmmm%n p
42. Which of the following is leasrapproprlate about Formative Assessment in mathematic
classrooms ? S X 16
(1) To check the progress of stugents during instructional activities
(2) To identify students’ concepg 4 :understandmg
(3) It helps to identify students’ misconceptions
(4) It provides cumulative evaluations that helps to rank children
Tifr Y eelt H Frefafad § § HH=81 TS SThe & 9 § o 7 ST ¢ ? 47/
(1) T framenard % SR faenfefl w5t wfa &1 st
(2) foenfe 9 SEURUTES FHH Bl TG HE
3) e ferenfalei st wifedl ot 9= T H Wl L §
9 %mwwmiﬁhﬁa%ﬁﬁ%ﬁa@wﬁﬁmm% 18.
43. ]
R
2
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4 A %i) (s);anq;ilci sliuiiztte swtlﬁzrtl asked to write one hundred and five in numeral form, s/he writes it
1) The student is a slow learner
2) s /he is mischievous
(3) s/he needs more help in understanding the concept of place value
(4) s/he is unfit to learn mathematics

Mw%@ﬁmﬁﬁm@ﬁwaﬁw%ﬁmﬁﬁwﬁaﬁmw%?ﬁw

e R T 11005’ ferear /

() foreneff de § wAsR R :
) 9 WAl ¢ e
_(3) S8 Wl A Y SR e i aﬁwmaﬁmm%

(4) o T HieH § e ®
- Which of the following letters has two lines of symmetry ?
= o A Torw @1eR =t <) et e §2
P H ’ 2 B 3) E @ U

6. What is the most appropriate cognitive skill that help students to recognize and group shapes
according to their attributes and properties ?
(1) Classification (2) Seriation (3) Conservation = (4) Decomposition
w@wwmw%sﬁmﬁaﬁﬁ@wﬁaﬁzw%wmﬁwaﬁ
IR THE M H Heg il § 2

e (1) orfteRT (2) SHHESA (3) a‘tw (4) <TEe

7. The sum of the greatest and smallest six digit numbers that can be formed from the digits 5, 9, 0, 2,
8 and 6 (without repetition)is: ..

3Hi5,9,0,2, 8 3R 6T (T =TT *) 6 aaaﬁaﬁa?@mmawﬁma@ﬁaﬁtm@ﬁmaﬁ
FHAMR
1) 1292290 (2) 1292209 3) 1192290 1192209

48. Radha walks 3 km 725 m per day on Monday, Wednesday and Friday, whereas she walks
2km 9 m per day on Tuesday and Thursday. Total distance covered by her from Monday to Friday
is:

T BiER, GHER SR YEHAR B FffE 3 ke 725 m S € STk HICTR SR e 1 9 Fife

2km9maa??f%|wﬁs§mw&wwaﬁﬂ§%§ﬁ% !
1) 16.975 km (2) 16.202 km (3) ‘15355 km (45 15.193 km

————
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49. The missing numbers in the pattern 12, 1ﬂ 13, 8, 14, 21, _, _ are respectively :
4et 12,14, 17, 13, 8, 14, 21, _, _ ¥ @ & wemd v € :
1) Bz @ 123 @) 14,5 Ay 13,4

I 4R T

q-«.
50. Which one of the following is the most effectlye way to introduce the concept of area to foyy

graders ? r

(1) Tessellations (2) :“Abacus

(3) Formula based method (4) . Approximation and Estimation

Sheft e ¥ T 1 A R SRV Y TRFRTN 1 T TR IR -T2

/a;/ SHaRE (2EfeT) ) fra@

(3) = 3nuifa fafy (4) GfFTehed SR STTAM W,QM’SZ‘*L

W %ﬁ
958

51. The product of the predecessor of 201 and the successor of 4781 is : /

201 3 qefardtt TR 4781 % TEd 1 OB Sk, ,
(1) 956200 /(2/)” 956400 ==(3) 965560 (4 965650

52. According to National Education Policy 20

(1) It is the most difficult aspect of learmng m school

(2) It is foundational to human survival ¢

(3) It is foundational to evolving technologles like Art1f1c1a1 Intelligence (AI), machme learni
and Data Science etc

(4) It can be a substitute for a teacher

g faren =i 2020 T SR FEERTE W % Hew bl TGl St € i <
(1) o2 TFa § ded H 9o Hod e
(2) ¥ HFd e % T e § T
_6) e (A, T SR s S W S S TR 5 o emeR
(4) T T e &1 W A Fohell &

AN 16




" In class IIL, 150 children were asked to name their one favourite fruit and results for 5 favourite

were written in the form of the following table :

fruits

/ ] .
Name of the Fruit Number of Children

L — W
Apple 28 s

| fprearenl
Guava 26 i
Mangoes ; 44

Banana 14

Grapes 28

Choose the correct option :

1)

(2)
3)
(4)

The number of children who like Mangoes and Banana is two times the number of children
who like Guava.

Ten children do not like any frmt given in the table.
Equal number of children have Apple and Guava as their favourite fruit.

The difference between the number of childrens who like grapes and those who like bananas
is 16.

mmﬁwoaea‘r@reaéswﬂaqmwawﬁ?q@waﬂwwﬂam@r#ﬁw@aﬁﬁmm

o o ﬁw
;- S Bg
ITES | BT
dem - o 1 4,
FaT | 14, 55
U
(1) mﬁﬂmmwaﬁaﬁraﬁm Wmmaﬁaﬁﬁmﬁgﬁ%l
-y 10s=, maﬁmﬁﬁqwﬁaﬁ*ﬁmaﬂjﬂaﬁm%
@) mﬁﬂmmwmﬁmaﬁm*ﬂm%
(4) wwmﬁwmmaﬁﬁaﬁm@wmm%l
e L
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m&*?
ey

‘ ‘g[rﬂ'ﬁ:’; =
%

P 17 d



54. According to National Curriculum Fr
towards : i
(a) Promoting memorization and rigorous algorithm

(b) Mathematical reasoning and logic Y
() Becoming sole authority for right answers __ -

o 0 @ a0 @ Ony®) @ (and(
vawmzoosaxmwﬁm%m&maﬁww T higd FH H T T
(@) TSR IR A ¥ W THINEH i s@en &
L) TR e fomr

() W S % fou wham sifuest s i

W oo o

(1) %9 (a) 2 (a) 3R (b)

-amework 2005 mathematics teachers Neeq
Q Sh[

@ AR ¥

v a8
55. Thevalueofé-p%_%is; 2(/
4 5 7 /6(5
7t g §
3 5 5
BT @ % @ 5
56.  Which of the following has a definite length ? :
(1) aline (2) aline segment (35—;~a ray (4) a plane
=1 % | form =1 wh fifvea o B &2
() T &y T EEE (3) T fohm 4) T wHaE

7

57.  How many planks of size 2 m X35 cm X 8

cm can ]pe made from a wooden block 8 m ] 70
wide and 40 cm thick ? — OCK 6 m long,

8 m T, 70 cm i @R 40 cm T R 3 ‘j ’\izm X35 cm X 8 cm WY A1 Fora
T 2 ’
1) 50 (2) 48 ;

40
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58. Which of the following is NOT related to Indian mathematics ?

1) Lilavati (2) Charak Sambhita
3) Surya Siddhant (4) Baudhayan Sulba Sutra
frefatad | ¥ HiA-91 IR 1w @ Heifta @t §?
/m/?ﬁam'cﬁ (2) =
@) i fasw (), e g

59. A person withdrew X 4,560 from his ban_lr"(f.:,aiccount on 4t of a month and deposited ¥ 2,567 on 20th

of the same month. If at the end of the month, balance is ¥ 3,125, then money (in %) at the start of
the month in his account was :

T S A T T % TR Y o T 4 aiE w2 4,560 PR @i w6 T 4 20 i
32,567 51 X QW1 A 7EH F ofq # 3Heh @ A 73,125 H oRT , A AR F IR F 55% @n f
forat o (@ H) o ?

(1) 4,998 (2) 5,213 (3) 5,128 4 5118

60. Most II graders are able to add two quantities like four candies and three candies, but when asked
to do 4 +5 on a worksheet a large number-of the same set of learners is unable to do so. What is the
most appropriate explanation of this obsetvation according to National Curriculum Framework
2005 ? g

(1) Learners are not taught addition

(2) Some learners are poor in mathema—fivcal skills

(3) Learners are not interested in learning real-life mathematics

(4) The learners are not ready for the_use of abstract mathematical symbols

@ﬁm%ﬁmmwﬁwﬁaﬁvﬂg}éwawi@@ﬁam%ﬁ%@rﬁmaaa%&fram

4450 3 fore e TR & A st o fenefl w7 svmed € ¥ 1 U oAl w9t 2005
% STTHR TEH! N BRI T ?
(1) e %1 dm S @ T famE
%""’@ﬁmﬁnﬁ?ﬁqﬁmﬁméﬁ%
(3) Fovenedt areafers T Hred # € T €
@) faset s ot e 35 g 2 e e e 2 ¥
s SPACE FOR ROUGH WORK / T el & fere sTte
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PART - Il / 4T - 1

ENVIRONMENTAL STUDIES / qYfaRoT AT 64. ﬁ

Direction : Answer the following questions by selectirig:7tlie correct/most appropriate options, a

Fder : Freafeiftaa sl 3 S 3 % fore Wy weret g foeed gl zf

61. Lesson 13 in NCERT’s Class V Environmental Studies text'book describes the amazing journey o |

“Gaurav Jani”. This lesson is a part of which:j;.gifft?,;he following themes ? (

(1) Family and Friends ) fy,:s‘gguer (

(3) Interrelationship (4) 'V\Jork and Play (

TTRIRSIRE & e stz =) diedlt Fa 1 I % 18 13 7 "’ 3 ST A 5 :

A T 18 WS Frrefefia & S S o o e 2 E

(1) RER IR s @ e 7

(@) T Hey Ah) w5 iR g *

: <
62. The state/union territory having coast on the Bay of Bengal is :

(1) Telangana (2) ~Andhra Pradesh (,

(3 Karnataka ‘ (4) :[gg;ala ‘

S T WIS W R T e T/ FEwtan wiw. Freftad § 4 @ 2 ¢

- G o 4

1) e - @ Wy (

(3) e : (4) 65. A

¢ ' =2 : sC

63. Archana is a teacher of Environmental Studies:teaching class IV. She forms two groups of children m

in her class and conducts a debate activity on:the topic “Should the school have uniforms or not”. 1

Why did Archana organize a debate in her class ? Which of the following may not be the most 3

] appropriate reason ? |

(A) Debate gives children an opportunity to think about and understand different aspects of a w

topic. : Bk
(B) Children are encouraged to express thgin;\éiews in the classroom.

Pt 1)
(C) Children get an opportunity to share tﬁjgl_ri experiences in the classroom. 3)
(D) Children assess the knowledge of theiljggggrs through debate.
1) @B), () and (D) (2) (A) (B)and (c)(s) (A), (C) and (D) @) (B)and (D) 66. Ch

ST, 4 8 AT ST 9 e g o G g ot O
H R St e = T 5 o w0 ae- g fifafy et 1 st 3 orh e 3 e fER )
m?%@ﬁﬁ#mmmm:ﬁamg?

(A) mm@aﬁﬁmm%ﬁfwmﬁ#aﬁﬁwaﬂxﬂwﬁwwﬁw%l ‘S—ir
(B) e H ol TR T T o fer shrewret fiyer & BET
(©) mﬁaa‘faﬁma’iﬂaww%mwm@m%l A
(D) Wﬁmﬁaﬁmwﬂﬁ%mwwmﬁﬁﬁl 3)
AN ®.O%FD) @ @)@ sk ®) (), (© st (D) 4 (B WO P-1 [l
P-1 M 20 ] [



64.

65.

66.

T &

Chapter 4 “Mangoes Round the Year” of NCERT Environmental Studies textbook has a story on
making mango papad so that children not only understand the process and technique but also
appreciate the skills of cooking and preservation. As per NCF 2005, which general objective of
teaching EVS is being achieved through this lesson ? -
1) To develop understanding with the}

help of observation and examples related to our
experiences in place of abstraction. '

: i Y,
(20 To develop an understanding of 110‘/\7"{.16%21?1 papad is made.

Ty s

(3) To explain how much labor is neede(;}:t,g}mmake an object.
(4) To discuss how various things can be made from the natural environment.

TAEIESTRE il TR STEe ht WISTYereh o, G144 @I &9 12 7" & 211 Wi = 3 e

2 aifsh =1 Fah wfsha 3R qeheiler it 9=) W, afeh THM SR WRE % vt H oft T wE | uh

TSl kT TG 2005 6 STTAR, 6 TS o Head § e TgH I B 91 GH 5299 T Fohan <71

w@e? i

1) ST F WM W AW I F TRl U I e Ud Sareduil i WeEdl ¥ wHg 1 fam
HE ~

2) ™ U e YR & ST Wil § S -GE faehtad |

) Wmﬁﬁﬁmﬁ%ﬁw@%wﬁmml

(4) R aRAW A forg TR A fafim aegy 9 S W & SEa ==

. . . E Fat - . - . -
A teacher of Environmental Studies, Whlle“”é"c‘g‘&hduchng an activity with some children, observes
some important incidents and also makes a=descriptive note of the same. Which of the following

may be the tool of assessment ?
(1) Rating Scale &
(3) Observation List (4) Anecdotal Records

TR STEEA F1 T et $S Sl & ety w6 SR, 9 HEequl Hesl # STaaeT S Y
FIT ST T Foieeh feoafor off gof e ¥ | Frfren ¥ ¥ SH-T1 ST 1 ST & G §2

(1) IEn ~2) IEwifen

(3) Tl g (4) o SIRSFTHSE 3TeRE

Child describes different skilled work religﬁg ;to farming and their inheritance (from elders) in
daily life. E%&:

The above statement is : 1Yy

(1) Statement of competency (Z)Eearning outcome

(3) Learning indicator 4) %:earning objective

o i g e < el AR 2 ST fagT RIS (el ) o =pf st ¥

S HYA T -
(Y Tl wYA (2) T & gfaea

(3) wiE % gus (4) HEA % |



67.

68.

69.

P-

Consider the following statements A and B.
Statement A : In 1969, Neil Armstrong was the first man to walk on the mioori. 0
Statement B :  In 2007, Kalpana Chawla seta new record for the longest space flightby a Womgy, ;
Select the correct code from the following : e
(1) A and B both are correct (2) A and B'bdth are WIOng
(3) A s correct but B is wrong (4) A is wrong but B is correct
H few T wUA A 3R B R feER FifET
FATA : T1969 H el AL S WS 57 Fa8 Sg5 =im 41
FUTB: T 2007, § o9 Sow e § TuS w8 wua T W A Tee 5 4
frfafea 9 Q @& = gfuc:
A A SR B I W& ® (2) ARBIF ToE .

() AT T WY BIEW © 4) ATEETWIBER T

Two Indian birds make nests which hang from the branches of trees or bushes. These two birds
are :

(1) Indian Robin and Weaver bird (2) Sun-bird and Tailor bird

(3) Barbet and Sun-bird (4) Tailor bird.and Indian Robin

T ARG Tl 987 A A Sl W S wewal sial cg;_@_‘%‘lqa SRAE UEI T -
OEESRES! 3R e’ uef _A2) ?i%us‘m;?:'ﬁ? e Teied

(3) Ed IR SR TEEEN @) <R SR wa ==

A teacher in his environmental studies class, divides theclnldren into groups and asks them to

collect some objects present in the school. After that he'sits with the children and asks them to 7

distribute those objects into different groups. Children divide objects into different groups on the

basis of their properties. What could be the most appropriate purpose for the teacher to conduct

this activity ?

(1) At the primary stage, children learn better by interacting with each other.

(2) By doing the activity, children make very few mistakes in understanding the definition and
facts.

(3) Activity strengthens the cognitive domain to a greater extent than the other domains of
learning in children.

(4) The activity develops the child’s understanding of-all the concepts.

F Ters ST TEiaRT ST i el H =l WE § e, e ¥ g ST T a5E e 90

1 Fedl T 30 91 I T F WY TSR H IgeH H GRFE TR I S S Tt ssa i S @l @

= T 3 nur R fafe g # 9ie S9 T 1 fee F gray miaiat S e a v SR SRl

A HFAE? Bt

/(1) iafies TR W g TH T 6 919 mmm@? Th ¥ 9 W T

(2) fafafy S & o=t oo oIk 92 1 99e § 950 SW Tt S §
(3) et sl e % o vel Qe H AT T ST e e 2
(4) wfafafy o=t % At sraumonst & wHe fawfaa s §)

LT 22

SR AT s




70.

71.

72,

Mohan is a class V teacher of Environmental Studies. He writes th f i ivi

plackboard in his class. ”Finc.l. oul about.the availability of water at thc; t?rlizvt)lfngoacnwty S
andparents an.d compare it with the current situation.” For the above activyt' e

following strategies would be most appropriate ? ek

) "I?iscussion (2) Interview (3)  Role Play (4)  Project

,ﬂgjwsamawwm ST 1 e & | 9% 1l ehen # et afafa %1 vy o fm

&1 oo AT SR STRT-I 3 W A 2B S 3 <A el i SR S feafy o

AT 3

1" SRR ety % fog, fFrafafea § fuem @ ol swE wrify 2 2

—,

(1) == w (2) WaTeRR (0 (3)  yftem felea A4y i

In a constructivist EVS classroom, which of the following is NOT seen to be happening ?
(1)  Children are learning by doing activities with concrete objects.

(2) Children’s experiences are being respected.

(3) Children are just solving familiar problems.

(4) Children are using their experiences:to make new connections between concepts.

AR ST 1 Tk T e, Frfted § @ @ 6@ e @ 2 g o & 22

(1) == S g R e e e =
e e )

(@) T SRS % e 3 - e B e § or s S 9

2 g;&a %

Read the Assertion and Reason properf%ﬂﬁ
Assertion : An elephant herd has only female and baby elephants.
Reason : Male elephants leave their herd after 14 - 15 years and move around alone.

Choose the correct answer from the following :
(1) Both Assertion and Reason are true and Reason is the correct explanation of Assertion

(2) Both Assertion and Reason are true.but Reason is not the correct explanation of Assertion

B

(3) Assertion is true but Reason is false,
(4) Assertion is false but Reason is triie,

By &
N

SAfYepe WE HRO B & W UG Y

frmert: e g o A ol e €
T : 21eft 14 - 15 T 9 G BIS 30 ¢ 3N o7t W ¥

frafafga #f @ @ s 94 ¢ ¢

(1) 2 eiRTeHeae qu1 HRUT FE § TH THINUT, FFHHRAT i T AR HI §
—2) B, sifreRer 9U1 T §E) § fehvg ST, SfUeRe okt W sare T T §
(3) erfyeres Tet ¥ feheg SRITUT 7T €

(4)  afurere 7o & fofeg HIOT TE ©

T a3



L iatakes are made while observing the learnin a
73. It has been observed that some mistakes are + o VHiGH B e following n%f ¥ r:a}) r
\f

. . : ur bi
children. These mistakes may be the result of out

Q
Bess o,

not be recorded as a bias ? & ; “\\Ou\d” A
(1) Previous results related to the examination of ;{g}‘y"_one subject and any area theregg. czlg
(2) Social background of the child. I 2%
(3) Samples of the children’s work in the portfollo{-}i i T
(4) Prior experiences regarding the ability and pegfofr_pance i el 3

1

i i sl o ST T G AR W SR ¥ e
Mmﬁmﬁmﬁﬁﬁﬁw.iﬁmwh%¢mﬁﬁﬁﬁ$m%
) w@ﬁm@nmmwmmﬂm@%ﬂémy 7
(2) = IS YBH | |
(3) OwIferE § s % S 6 T |
@) == F A o S e % ded H 1gel % g |

74. A person would not drown in the dead sea or a salty lake even if the person does not know how;

e,
FU

swim. This is due to :

(1) high density of sea water

(2) low density of sea water

(8) neither high nor low density of sea water

(4) volume of sea water

Y HHE % UH S S
(2) 9HE % Ut 1 T
(3) HHR % 9A! A7 S, T T e
(4) FHZ % UH H AE -

75. Read the statements I and II.
Statement I :  Due to anaemia, children do not grow well, and their energy levels are low.
Statement II : Anaemia affects both, children’s phys

om

cal as well as mental health.

Choose the correct answer from the following : ===
(1) Both I and II are true (2) Both Isand II are false
(3) Iis true but II is false (4) Tis false’But I is true
%9 1 T8 11 Sl 291 9 98| i

HAT: aﬁﬁm%mﬁm@%ﬁm%ﬁd
HATII : mmﬁmﬁﬁmaﬁxﬁqﬁw
frefafea § 4 @& S® T .

/IS ﬁliﬁﬂlll@%l ® Wiwn
() 1T & foreg 11 TTerd ©) @ T R R &,
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- 76.

77.

78.

A person boarded an express train on 30 January 2023 at New Delhi for Bangalore. The train
departed from New Delhi at 17 : 00 hours and reached Bangalore at 17 : 00 hours on 315t Janua

2023. If the distance between New Delhi and Bangalore by train route is nearly 1776 km. The

average speed of the train during this Journey was": —4

@wﬁaﬁsoaﬁﬁzozsﬁﬁﬁmﬁm%maqm127#%?@”1’@17 00 5 7 =5 aii:
R17: ooa%mmmaﬁzozsaﬁawuﬁmﬁ%‘ﬁ—ﬁmmwaﬁaaﬁ?ﬁmm
1776 e , 1 8 0 4 e e g 7 4:;-%—9&9’
gy Takm/he (2) 8072km/hr  (3) <7721 km/hr  (4) 71.04 km/hr ‘3"%—

Read the Assertion (A) and Reason (R) carefully =

Assertion (A) : The goats from which the soft pashmma wool is collected are found on very high
altitudes of 5000 meters in extreme cold.

Reason (R) : A coat of warm hair grows on goats body which protects it from extreme cold.
Choose the correct option from the following :
(1) Both (A) and (R) are true and (R) explains (A)
(2) Both (A) and (R) are true but (R) does not explam (A)
(3) (A) is true but (R) is false {33
(4) (A) is false but (R) is true g
ARYRYT (A) T HROT (R) T A 9 I —
AR (A) ﬁqwﬁﬁ%aﬁﬁmm mwﬁ%éwwsooorﬁaﬁﬁﬁm
FHNT (R) : myﬁ@ﬁ%%ﬁqw*mmwma‘r%wwaﬂ%%
Frefafaa & 9 W& fasea &1 T4 - o
(1) <Fi(A) T (R) ¥&l € 941 (R) , (A)ﬁsqmm%
(@) I (a) T (R) T ¥ TG (R), (A) F TS T

(A) T ? R (R) ol §
4) (A) 7o ® foRg (R) WET &

| H'

Read the following statements and choose the coriﬁ_céfoption.

Assertion (A) : Biomass and Fossil Fuels are the two main conventional sources of energy.
Reason (R):  Conventional sources are those w“h;ch are renewable in nature.

(1)  Both (A) and (R) are true (2) Both- jA) and (R) are false

(3)  (A) is true, but (R) is false (4) (A) is false, but (R) is true

.._::..}a_

Fretfifian ol 1 ufeq w6 wd e gfT -
wfushert (A) ;S AEN T Sfared e, aﬁlwf%wmeﬁa%n
HR (R) : ot e # o T e e

(1) 2R (A) v (R) T & (2) T (A) 3T (R) T §

B (A) v ¥ i (R) o B (4) (A) e R SR (R) ¥ §
" 25 J



79. Siddhi is a teacher of class 4. She takes all the children of her class to the playgmun q

” . %
Kabbadi, while teaching them lesson 10 “Hu tu tu, hu tu tu” of the‘NCERTtEmﬁlrtﬁnmep )
textbook. Before playing the game, she also explains the rule.s of this game to af e Chﬂdren_
does the teacher tell the children the rules before playing this game ? Which of the folloWing
be the most appropriate reason ?

“

I,

tal g2, It is 10

(1) Lc
SIEECCH
S

(A) She wants to draw the attention ofthe children that in life like in sports, we make Tuleg /(’H/ -
(B)  So that all the work is done properly." . ' ' 3. Which c
() We are all bound by the rules in the same way in the society by which we settle djg,, (1) So
and conflicts among ourselves. ‘ (3) St
(D) By making rules, the attention of all children is much more on the rules than on the gan, frafafs ~
(1) () B)and(©) (2) (A)and(®) . (3) (Qand (D)  (4) (A)and (D) 1) =
faﬁq@m4ﬁﬁfw%la€mw%aaﬁaﬁmﬁéma?mﬂmaﬂm By =
WS 10“E Y, TIQ' TN & forw wsft o3t ) o1 @ % Teq & o S FHIg G f@‘ A € 18, What ic
_ ﬁ%ﬁawﬂﬁaa’msa@a%ﬁmﬁaﬁ%nﬁfww@aﬁ@aﬁ@maﬁﬁﬁwaﬁa Environ
& ? freifeton & & B o v 37 w0 @ www 2 . (4) ﬁﬁ
(A) & T H AN 39 IR e =t § for e 3 e @ Sad | ot 7 fram s ® T
(B) i Wl e Wt €1 | fop W en
©) %ﬁaﬂﬁmﬁsﬁm@ﬁaﬁfﬁa‘%%mmmmﬁmﬁaaﬂimﬂﬁm%l © gec
(D) ﬁmaﬁﬁﬂsﬁﬁmw@aaﬁ?ﬁmﬁmmwﬁww%l D) T:;
A @), @ Q) @ (@) ke ~ () ©OsRD @) (4w (D) pla
80. Select the correct match from the follom?g (D) (A)J
(1) Kathak - Karnataka (2).. Bihu - Assam hiad
(3) Lavani - Tamil nadu 4)” Bharatnatyam - Odisha HHHH
Freiefen o 4w i ; o (A) i
(1) o - Fiee | &), g - srem T
(3) wEvi - dfterg @) ey - s By =i
81. Read the statements A and B carefully - EiSt
Statement A : During t_he cold season lizards go into a long and deep sleep. © ife
Statement B:  Some animals 80 1nto a long, deep sleep in certain seasons. e
Choose the correct answer from the following - (D) f&
(1) Both ‘A" and ‘B’ are correct and ‘B’ explains ‘A’
(2) Both ‘A’ and ‘B’ are correct but ‘B’ does not explain ‘A’ 1) (43
() ‘A’is correct but ‘B’ is incorrect, =" ' .. Cows have
(4) ‘A’ is incorrect but ‘B i correct, = (1)  Snipy
FTATWBH AN AT oy (2) Chew
FATA: T F U formfn gLzt o , , (3)  Cuttir
HRATB : g@aﬁaﬁﬁ,wwwgﬁgﬁmﬁmﬁaﬁm%l (4)$Gnm;
ﬁwﬁf@aﬁﬁuﬁwaﬁgﬁ et T & = i o
o TR 430 e, @
) , A \ B W%W‘B’“A’qﬁﬂww?@%[ (3) AW
®) ‘AW { g B e B @) e
() AT S wy B @ e
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It is 10 A.M. now in India today, it is around noon of today in

@) London (2) Karachi (3) ‘J apan (4) Singapore
gyl &7 WA H 10 AM. T ¥ | 3 & H T AT
W (@ (B) (4) fEmg
/M/Mu& one of the following is a group cons1stmg of elements only ?
g () Sodium, Brass, Potassium (2) * Bronze, Copper, Aluminium
3) Steel, Iron, Zinc 4) " Tm, Lithium, Sodium
ﬁmﬁfﬁaﬁﬁ@aﬁ?mwmaﬁrﬁw%
(1) wifed, s, dieferm 2" TS, SR, TfatEm
Jos <, I, Ne (4 ) ﬁq faform, wifeam

What is the reason why tales and stories have been given an important place in the textbooks of
Environmental Studies ? Which of the followmg may be the most appropriate reason ?

(A) At the primary level, the teachers of Environmental Studies narrate tales and stories with
interest, that is why they have been given an important place.

(B) The use of stories has often been considered important in developing children’s sensitivity to
environmental issues.

(C) Because children easily relate themselves to the characters of the story, that is why they have
been given an important place in the textbooks.

(D) Tales and stories are liked by the society, that is why they have been given an important
place in the textbooks of the environment.

1) @Aand@® () B)and(©) .8 (C)and(D)  (4) (A)and (B)

wm%ﬁmﬁwawaﬁwwﬁﬁﬁs@ﬁwﬁﬁraﬁ@wﬁmw%?ﬁﬂm

H Y R 91 T SUgH PRI S FhAT 27 o

(A) m@mwmmﬁamaw%fww%@ﬁwwﬁﬁﬁﬁﬁmmﬁ%mm

Wﬁmwﬁm@wﬁagﬁr%uﬁmﬁﬁwmﬁamwmaﬁmﬁﬁw

TR Heequl W1 T © |

) mﬁm%m@mmmamm%mmwmﬁww
fea T %1

(D) mﬁnwﬁmwaﬁm%s@mﬁﬁWﬁwmﬁWwﬁ’ﬁmw%l

M) @w|D@ @@-@IWO B OIMD @ (A iRE)

Cows have Short front teeth and Large and‘flat side teeth for which one of the following ?

(1)  Snipping grass and chewing grass respectlvely

(2)  Chewing grass and snipping grass respectively

(3) Cutting-grass and gnawing grass respechvely
(4) Gnawing grass and cutting grass respectlvely

T % S 3 <1 B1e adn 119 & < 99e aﬂia%'ﬁﬁ%l A i B R ?
—) s g w1 991 O HaH % g
() s SRy = qeT SR HRA o fag
(3) mwmamwaﬁﬁﬁ%fm
(4) . =g A qo I H e & g

= b J




86.

87.

P-

In the following question, Assertion and Reason are follow
o . i ed. Rea
choose the correct option from the following : d the statements carefully ang

Assertion : In the lessons of NCERT’s Environmental Studies textbook s
common life, everyday problems and some burning pro blenr{sreaf incidents
have been kept. ‘ related to todp,

Reason : Children can debate openly on all these problems, be aware of th :
sensitive to them and make correct understanding e problems,

(1) Both Assertion and Reason are correct and Reason is the correct explanation of Asserti
io

(2) Assertion and Reason are correct but ‘Reason is not the correct explanation of Asserti
on

(3) Assertion is true but Reason is false. ...
(4)  Assertion is false but Reason is true. __-

frefafaa v ¥, AfTeme SfR ST i STA-TEL T ] | el 1 oW @ 7 iR Pttt 3 4 ¢

faeheq &1 =7 & : :

AT TGRS o, TATGRYT ST & UISd Y& o UIei H 314 St i areafaes wren
ARl Y T iR ST | S §9 Soeid s ®i @ T g

HROT : 2 G el W o= el el R Udh, TN § ST B, S Fid HoeTy
T 3R W& 9 9 T | "

© SifreRe SR HROT A T ¥ iR AT, i W e €

(2) e oK HRUT e  Afe wwor, SRTme F 9 e T ¢l

(3) e e ¥ SR T s ¥ L

(4) RTRIT ST § T FHIOT FA T

Rakesh is a teacher of Environmental Studie

s-of:class V. He asks the children in his class to do

activity. In which, all children observe which _“ebject floats in water and which sinks in water
After the activity some children ask the teacher-why some objects sink in water and some obje
float in water. What is the most appropriate thing a teacher should do in the following situatio

(A) The teacher should tell the children that this is happening because of the density.
(B) Give each child the freedom to’observe,'record their observations, and interpret th
observations.

(C) Provide opportunity to each child to hypothesize, test and make activity based generalizatic

(D) Teacher should say that the main reason for this you will understand in your higher clas:
(1) (A), (B)and (©) (2 (B)and © (3 ©@and(@D) (4 (&) only
W,WSW@W&WW@W%L@@ﬁW‘ﬁWﬁﬁ@@WHH@%WW
ﬁﬂ@rﬁfmﬁar—éagaasﬁammﬁ%ﬁaﬁﬁﬁ“gﬁﬁﬁﬁ%aﬁtﬁﬁvﬁﬁ@mﬁ%“?nraf
%wﬁa@-@a—aﬁma@a%ﬁwm@;ﬁ@wwkwmmﬁm%mﬁ
(A) ﬁrwﬁa@amaﬁqﬁﬁmwwam%l

(B) ma'éaﬁﬁrﬂmw,mw,ﬁ-TW@TWWWWWﬁW%
©) mﬁﬁwmqﬁmmaﬁﬂﬁﬁfﬂaﬂmWWme

(D) mmﬁ%mmﬁmg@mmmwwﬁﬁml
© @eEdEwe @ GFwme @ © 3 (D) /m” ¥ (A)

T e
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In the following question, Assertion and Reason are followed. Read the statements carefully and
choose the correct option from the following :

Assertion : The curriculum of Env1ronmenta1 Studles is theme-based and each theme is
interreleted. )

Reason : The main reason for keeping the- syllabus of Environmental Studies theme-based
is that it creates a deep understandmg of each theme and each theme begins with

questions. e
(1) Both Assertion and Reason are correct and Rea{son is the correct explanation of Assertion.
2) Assertion and Reason are correct but ReaSQ‘l‘.‘__l_».:;IS not the correct explanation of Assertion.
3)
(4) Assertion is false but Reason is true. e

frfafea w91 ¥, aﬁmmﬁﬂwﬁmr@w%lmﬁwﬁﬁaﬂiﬁmﬁ@aﬁﬁw

farcg W I MW ¢
SRIFAT ;TR S 1 STl i W SN § ok wekw ofm ofa:Helfed €1

HR: TR SR ¥ e @ o SnHid T P ged §ed SR § 6 5 W 9
aﬁﬂ%ﬁwaﬁr%ﬁﬂazﬁnaﬁsﬁmm@@ﬁ%l

gad arﬁmmaﬁwmvﬁ%aﬁtw aferad ol v I Rl
2) Ifuwme iR wRUT T ¥ wfhA wwwT, axﬁmmaﬁaﬁwmﬂéf%l
(3) AIHT T § WfhT HIOT A 2| e
(4) SNPIRYT A § g TR T B

~

Assertion is true but Reason is false. :—

- In a child centered EVS classroom, which of the followmg activities would be LEAST hkely to occur ?

Ma(1) Children will be seen actively working in a variety of activities.

(2) The seating arrangement will be seen to change according to the activity of the children.
(3) Children will also be seen sharing their experiences while discussing in the class.
(4) Children will be seen in the classroom, listening to the teacher.

. atare seree ST Sigd wen §, Frefated § 4 S W@ e el w9 i it ?

@ 7= - 1 afed # fremie SR FTH-gT g fres <
) i % T i SER da ) e § e g fa dm

ol ﬁmﬁaﬁﬂgaﬁmmaﬁﬁ@%ﬁﬁgﬁ%ﬁ

By = T ﬁrwaﬁgﬁg&ﬁ@ﬁéﬁl

%. How much time ’boﬂed milk’ takes for digestion m'the stomach ? Choose the correct answer from

1
\ﬂﬂ\ﬂlﬂilﬂliﬂlﬂlll}llllllll|||| :

the fOH.Ong ——
@) 2 hours (2) 3 hours (3) =4 hours (4) 5 hours
N o g e ey 1 fopee e v 87 Pt A 9w S g

0 2w () 3% (3) 4R @ 5%
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PART - IV
LANGUAGE—I : ENGLISH 1

andidates should attempt questions from Part-IV (Q. No. 91-120), if they have
ENGLISH as LANGUAGE-I only.

INIPORTANT 3 C
oplcd for

a below and answer the [questions that follow : (91-99)

as acting in a play staged at Ambernath’s Gandhi School. We had managed to
after much running around. We left the hostel quietly after eating dinner in
and it was already 9.15 p.m. Patil and I were rushing along the
g from the opposite direction. He had seen us,

Read the passage give
Shreeram Lagoo W

ot the tickets for the play
tghe mess. The play started at 9.30 p.m. s alrea
road to the station. Suddenly we saw Upadhyayji comin

“Maharshi, where are you off to at this time ?- he said reprovingly.
We looked at each other’s face. Suddenly Patil spoke up, “Sir, I have a headache. We are going to
the station to have some tea or coffee. We will be back right after drinking a cup.’

“Why, don’t you get tea and coffee in the mess ?’
‘We do, Sir. But today there wasn’t any milk in the mess. That's why we are going to the statior,

Patil improvised.
Upadhyay said, ‘Come with me. I'll get yoursome coffee.” He brought us to his home. The tickets

for the play were squirming in our pockets. We couldn’t work out how to get him off our backs.
After seating us in the drawing room, he asked his wife to make the coffee and sat on the sofa

across from us.

As soon as Mrs. Upadhyay entered the kifC
bothering you unnecessarily. I will make the coff

She was pleased to see me. ‘Maharshi, youjgoéit .. Twill make it

I went up to her and whispered,  Ammaji both of s were going to the Gandhi School to see
play. Warden Saheb waylaid us and brought us-Here.  See, here are the tickets, but he doesn’t kno

anything.’ s (0 e :
Ammaji examined me from head to toe. ‘I see. Is it a good play ?’
I said , “Ammaji, it is very good.’
“Then why don’t you go ?' she said with a laugh.
‘How can we go ? Warden Saheb won't give us permission’, I whispered.

She came into the drawing room. Listen, wha’: kind of a warden are you ? Why don’t you lett
children go and have some fun ? Go, Maharshi, it don't be too late.

en, I got up and said, ‘ Ammaji, Warden Saheb is

91. ‘We had managed ...’ Identify the tense of e underlined expression.

(1) Present Perfect (2)...1
(3) Past Indefinite 4)...

92. Choose the expression similar in meaning to ;improvised’ as used in the passage
(1) to tell the truth (2) to shout o
(3) to make it up (4) to declare

ST 30




93.

94.

95.

96.

97.

98.

99,

yvhat aid vir. vpaanyay dao arter nearmyg uie poys ¢

1) He did not react at all.

(2) He allowed them to go.
(3) He talked to them and walked away.
(4) He took them home for coffee.

y Il
P

Why were the boys sneaking away from the hostel 7

(1) To watch a movie (2) Toseea play

(3) To have a stroll (4) To play:football

Mr. Upadhyay’s professional role in the institution was that of ...
(1) an administrator (2) the principal
(3) a teacher (4) the hostel warden

“The tickets for the play were squirming in our pockets ¢

What literary device has been used in the underhned Xpression.
(1) Alliteration (2) Oxymoron (3)

Personification (4)

Which of the following statements is True/False ?
(A) Mr. Upadhyay met the boys inside the hostel. «
(B) The boys were already getting late for the play
(1) Both (A) and (B) are False. (2) Bbtn (A) and (B) are True.
(3) (A) is True but (B) is False. (4) (B)is True but (A) is False.

Which of the following statements is True/False ?
(A) The boys had purchased the tickets in advance
(B) Mrs. Upadhyay supported the boys in their endeavour

(1) Both (A) and (B) are True. (2) Both (A) ‘and (B) are False.
(3) (A) is True but (B) is False. (4) (B)is True but (A) is False.

!;_z;s:; ~~~~

How did Mrs. Upadhyay receive the boys at home ?
(1) She welcomed them.
(2) She was unhappy to see them.

(3)  She received them coldly.

(4)  She was displeased with her husband for bringing them home.

P4 I b

Simile



Read the extract given below

100.

- 101.

102.

103.

104.

05.

stions that follow : (100-105)

and answer the que
ear

O what is that sound which so thrills the
drumming ?

Down in the valley drumming,
Only the scarlet soldiers, dear,
The soldiers coming,.

O what is that light I see flashing so clear

Over the distance brightly, brightly ?
Only the sun on their weapons, dear,

As they step lightly.

O what are they doing with all that gear,
What are they doing this morning, this morning ?

Only the usual manoeuvres, dear,

Or perhaps a warning.

O why have they left the road down there,
Why are they suddenly wheeling, wheeling ?
Perhaps a change in the orders, dear,

Why are you kneeling ? '

What emotional state does "kneelihg’ reflect ? ¢
(1) anxiety st @) i
(3) indifference S (4)

Where is the ‘sound’ coming from ? ;
From a contingent of soldiers . (2) From a market place
- (4) -From a group of commoners .

(1)
(3) From a crowded street

The poem has been written in the form of ... . :

(1) aballad = (2) alyric (3) an elegy (< anepic
Which literary device has been used in the expression “scarlet soldiers’ 2 |
(;) a’lht.erauor; ‘ (2) transferred epithet

(3) simile ' v (4) metonymy ‘

£

The poem presents itself as a conversation...
(1) among a group of people (2) bé%yééen two persons
(3) among three persons (4) imz;fcroWd
I;ienﬁfy the rthyme scheme of these lines,

(1) baba (2) abab - (3) abcb (4) abdc

T 32




106.

107.

108.

109.

110.

111.

112,

113,

P

Which of the followmg features of human language enables humans to talk about things which
are not present in immediate time and space ?

(1) Displacement. ()
(8) Structure Dependence. (4)™

Arbitrariness.
Discreteness.

Which of the following among Krashen’s hypotheses is similar to Vygotsky's ZPD ?

(1) Input hypothesis (2).} Monitor hypothesis
(3) Natural order hypothesis (4) Affective filter hypothesis
What is productive vocabulary ?

(1) Words which are recognized as we hear

(2) Words noticed when we read beyond the lines.
(3) Words that we use in writing and speaking,.
(4) Words which are new to the reader.

Which of the following is NOT a feature of the Grammar translation method of second language
teaching ?

(1) Comparing the grammatical rules offirst and second language.
(2) Learning and practicing the rules of*grammar of the second language.

(3) Communicating directly in second-language and then comparing the rules of grammar of
the two languages.

(4) Focusing more on the form than th

A teacher asks her students to reflect o \
she gave them and what and how they.were thinking when they wrote that answer. This is an
example of : et

(1) Metacognition. (2) Metaphor. (3) Metalingualism. (4) Metasemiotics.

In a speech community, it is observed that ‘s’ is pronounced differently by two different socio-
economic groups of speakers. This difference is an example of :

(1) A socio-linguistic variable (2)s, A pragmatic variable
(3) A socio-cultural variable (4)s. A socio-psychological variable

h,_*

Mother tongue based multilingualism ad: cates that

(1) all children begin their schooling in.their mother tongue or home language
(2) all children begin their schooling m-ﬁ1e language of the State

(3) all children begin their schooling it Enghsh medium and in home language
(4) all children study Hindi as their flrst'fanguage

u~ __'A

Which of the following is NOT explamed by the concept of Language Acquisition Device (LAD) ?
(1) How children learn their first language.

(2) How children are able to learn language within a short span of 4-5 years.

(3) How children learn figurative language.

(4)  Why the linguistic output of children is more than the input they get.

LT, 33 -



LECT about languages and dialects ?

114. Which of the following is linguistically €€ RR '
(1) Languages have written literature but dialects are only based (m‘ oral txtadltions,
(2) Languages and dialects are linguistically different but geographically .«m'mtcs.
3) Imxguagvs have their own seript but dialects do_not have their (min s;rrll'pl.. )
(4) There is no well-defined linguistic difference betwden a language anc dialect.
115. According to Cumming’ interdependence hypothesis, M?ich of these are interdependent on each
other : bl
(1) Comprehension and production in second Ianguﬂa‘ge.
(2) Cognitive academic proficiency in first and second language.
(3) Reading and writing in second language. ne
(4) Basic interpersonal skills in first and second language.
116. Which of the following DOES NOT justify starting reading skills with words and short story texts
instead of letters and alphabets ? .
(1) Beginner readers can focus better on bigger units than smaller units.
(2) Words and texts create meaningful associations which letters fail to do.
(3) Words and texts are more interesting but letters.are not.
(4) Separate letters are more difficult to memonseg} words.
117. Which of the following skills is NOT considered as a mark of reading with comprehension ?
(1) Focusing on individual letters/ alphabets. 4
(2) Anticipating the content ahead. T
(3) Organizing and assessing the sequence of events-or ideas. -
(4) Mentally summarising the text read till now.
118. Veera is a seven month old infant. She is now making vocalizations that combine consonants and
hich of the following ? 22t

vowels. She is communicating using w.

(1) Phonemes.
(3) Cooing.

(2) Babbling.
(4) Linguistic speech.

119. Mark the INCORRECT statement among the following, regarding text-comprehension

strategies :
(1) Skimming involves going through the text rapidly while scanning involves looking for specific

facts.

(2) Skimming is more about in-depth reading whil
(3) quesﬁonsf,; is more apt for reviewing while scafinin g helps more with answering partlcular
_\;j_"r_ngvement through the text.

(4) Both skimming and scanning involve rapid eye

‘anning is more of cursory reading.

120. When children start usin i
; b using language to ask about things, events and ph theny
af;uchl of ﬂ}e fc?llowmg functions of language is used more than the otlliei: ??menon e
maginative.  (2) Regulatory. (3) Informative. (4) Heuristic.
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a1 - 1V

| yio - 1 TR
In’ﬁqﬁ: el -1V (WE, 91@120)%m#wa;a—rmﬁ&zrféﬁﬁmm—lmfamﬁﬁr

g

ﬁw&@awﬁw@mwﬁ%w%mmwﬁmmwaﬁﬁm (91-99)

HrfEE S § YRed Y 12 S wieA 7 % e & fae dfifoes SR Amfaen gfen w5 wnfidi
s el U B 0 S TRade 8 o |- 98 ool o off S § R ot oft Tt eAe Anl g9 %
mmﬁagﬁmﬁuﬁaﬁwﬁm!ﬁﬂmwm%l Tz geee +ft gl e W1 T, e Hed & & a1
T WS Y ST sfatied Wil ¥ faems oo # Rt oSt @ehd it weg ot 2 ¥ | S el el F i
< T sifae g =t sen Amtaes gfven o erfuss @nfim of |

e faeetaor % ag A 3 frewd Frehren for afe @ erot Amfae yaftl i T fig Wi 9w €
3R S TR Sl H el o Wohd ¥, 0 S 59 SIS il ol Ggrdan ¥ ST WA 1 gL A H Her g
3R TIfd TeT W R ol |

91. ‘WAl w=s ® |
(1) &wmE (2) W

92. ‘Sfaf-fea’ = A vt TE &
(1) wHfea @) affea

93. mﬁﬁ%mﬁﬁaﬁ?mww%?
1) sifaew 9 AEfas ST § T S HiEared
(21 9lifcer ST Rt eTden AMfas ST Sifuen ity of |
(3) iifirer TG i STUEN TG ST B A wiE off |
4) it 9 gHfGE ST ST A DS B T o

PR

(@ |

94, mvﬁaﬁq%@r@%aﬁ?
(3) mmﬁgm%%mé?m
(4) oo gaa: 89 At AR T

%. WWW%WWW%WﬁWW%hl
(1) wEm 2 AT 3y ;WA (4) WA

6 i & et e ey & L5 ,
D 9@+ s () Y+ (3) W+ 3% @ e

7 i it o |
B wiese (2 wenEisE o (39) FEOE I (4) R
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98.

TN F R W &) ) wred ¥l
\ Sl " speft il gL T

(1) g rpgaadl &) wgsEA (2)
. 3if @Il
(3) o) Ryana W I S (4) Al ol

99, wrfgs gfen A weed | ) 3
(1) st gf (2) T”aﬂfw
JORRERECEE SR () T gfmn
ﬂéaﬁmﬁmww@mmz:m%mmmfm w1
HIWT! (100-105)
S 37dur faT g¢
wran o @ vt
ayren forrem | o
Taan it A Ff,
Tfa-wfd 7 & 3RS e
T TN FH Q| :_,:
100. Wﬁmﬁmﬁﬁww&msﬁamﬂﬁﬁ
(1) e G R T ) wﬂaigﬂiﬁ‘*ﬁﬁw"
101. 9 R =T - - i
) PR (2) -G (3) TET-T (4) Smen-FReEm
102. Hiadl % HEFIR St § T B
(1) 3T-3T9H 2) Tfa-ufd @y e am 4) FE-3:@
103. =R forad off @ oM, AT |
(1) & Vid Tl =y 2) WH@;@WH@Q
() @ & 31 =y Ay ‘emﬁm?fmar%q
104. ‘31E AW’ @ A € -
(1) FARHEA  (2) 3B IR (3) Y aTe feard
105. SfEA FAE? | '
@) sme-Fren § for (4) wwaﬂ@rﬁngw

106.

ﬁw%mmw*mmwﬁwaﬁwmmmmwaﬁwm”
(1) forars (feweratie) Q)
EIN (t) oot e (Fome)
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107. Frfafad & @ e & WRebew § @ SF-w1 armE % 2pD % g 8?2
(1) Fraw aReew (2) ufEhewr (uier) sfemern
(3) WPl o uRehed ~(4)  erRfREE fihe Yfemer
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PART -V
LANGUAGE ~ Il : ENGLISH

NT : Candidatesw should attempt questions from Part-V (Q. No- 121-150)
opted for ENGLISH as LANGUAGE-II only.

if they have

od the passage given below and answer the questi : w: (121-128 I
Re A cotfple. of dz}ys later, there was ‘a niusic r(jlcital i(;nt; ;h{;; ::’;::ndu (Auditor)ium’ one of the two
jargest auditoriums in town. One of the performers was Ustad Majeed Khan.
Lata and Malati both managed to get tickets. So did Hema, a tall, thin and high-spirited friend of
s who lived with innumerable cousins-boys and girls-in a house not far from Nabiganj. They were
¢ the care of a strict elder membet of the family who was referred to by everyone as Taujl.
ma's . for the well-being and
eputation .of tl}e girls of the family but also had to make sure that the boys did not getinto the countless
ginds of MISC hief that boys are prone to. He had often cursed his luck that he was the sole representative
. 5 yniversity town of a large and far-flung family. He had on occasions threatened to send everyone
sraight back home when they had caused him more trouble than he could bear. But his wife, Taiji to
everyone, thogght she herself had been brought up with almost no liberty or latitude, felt it was 2 great
. that her nieces and grandnieces shouldibe similarly constrained. Shé managed tO obtain for the girls

ity
what they could not obtain by a more direct approach.

the use of Tauji’s large maroornt

No sooner was Tauji out of

This evening Hema and her cousin had thus succeeded in reserving
packard car and went a!round town collecting their friends for the concert.
sight than they had entirely forgotten his utraged parting comment. “Flowers ? Flowers in your hair ?
ou are completely

their

all unde . . . ;
s Tauji had quite a job on his hands, as he was not only responsible

Rushing off in exam time- and listening tS all this pleasure - music! Everyone will think y
dissolute-you will never get married.” ... :

121. Identify the word nearest in meaning‘to ‘constrained’.

(1) arrested (2) caughti i = (3)— confined (4) laid
122. What cultural show was being held in the town ? :
(1) A popular play (2) A dance performance ;
) A classical music recital (4) A blockbuster movie
123. How did Taiji manage to get concessions for the girls ?
(1) By a'rguing with Tauji - i (2) By persuading Tauji
(3) By fighting with Tauji T {4\ By adopting an indirect approach

e

124. What was Tauji’s duty as a family patriarch ?
(1) To teach the youngsters i =
To keep a strict watch on the.y01
(3) To get the youngsters married’
(4) To cook for the youngsters =~

R

i
jungsters’ activities

iy
P

125, By nature and beliefs, Tauji can bg{-gg;-scribed as a/an...
(1) conservative )}Y liberal ™ (3) anarchist (4) agnostic
1 . :
26, Identify the tense of the given expression ‘...... had thus succeeded...’
(1) Simple Past Tense /(2) Past Perfect Tense
(3) Simple Present Tense (4) Present Perfect Tense

[T " J

> -




srone o' mean ?
profe

re
likely to have/get

127, What
not li

does the underlined expression ,',{!32_--1—'9-}152“
(1) sure to hm'o/gvl rm) likely to have/get
3) mpossible (o lmvu/p,vl () { 2

PRy ;élg(r.
hich of the {ollowing statements i8 lrue/l
‘ cital.
(B) are False.

(A) is False.

128. State v I
(A)  Taiji was relatively liberal in her approdCte.
(B) La(!l and Malati L{\mld not obtain tickels r’olll !’](I/K)l;nd
(1) Both (A) and (B) are True, (&) BT e bl
-()*" (A) is True but (B) is False. “ (B l_“"’»’
at follow : (129-135)
at Baghdad, but it wag not |
Gy,

T h
Read the Passage given below and answer the qluq?_;lpl;s n:y days ]
I designed, after my first voyage, to spend the “3..5t,,.9d o ot of ko ot .
n landed on an island covered With se;,v"f

I grew weary of an indolent life and 1 put to sea a s€co s
a good ship and set sail. One day . While some diverted-thegmg e
: Wi,

embarked on board of im
: a
s, but we could see neither man nor ani tw,
fell ag] k,
e
°P- W,

Sorts of fruit tree
5 sat down near a
rs, and other fruits, I took my wine and provisions iy

gathering flowe d afterwards
two high trees, which afforded a delightful shade. I made a good meal an
I'woke up, the ship was no lon er in view. ds the sea, I Y
In this sad condition, | wags ready to die with griEfI- bW}}lwII; Is gﬁ:&fggﬁ:&e and éoélci);ﬂgdd(il
, but looking over the land I behe . ! ) Wn,)
Ieftuand wlellﬁ towards the’object which was so distant that at first coulq

nothing but sky and water
took what provision | had
S of a prodigious height and extent. I dreyy Neary,

distinguish what it was. g
As I approached, | i hite dome of Vi

ed round 1 Loought t to be a white und that I had not strength nor activity to climy it

hé-dome measuring its circumference, | Medity,

it, and walked round it and found no door to it. I fo ate
account of its exceedin smoothness. I went round e :
& eans of accomplishing this occurre( t
ha

upon some means of gaining an entrance into it but n6 o
sun was about to set, and all of-a-sudden the sky became as dark as if it

By this time the A’
covered with a thick cloud. I was much astonished,at this sudden darkness but much more When
ize that came flying towards me. I rem

found it occasioned by a bird of a most extraordinary siz ;
that I had often heard mariners speak of a miraculous bird called the roc, and conceived that
dome which I so much admired must be her egg. Shortly afterwards the bird alighted and sat

egg.
129, Identify the tense of the underlined word in : ‘I drew near to it....
(3) Simple Present 4)

(1) Past Perfect (2 Simple Past

130. The narrator left Baghdad because....
(1) He was weary of the city

Future Perfect

(2)  He was keen to visit another city b=
(3) He did not want to live a lazy life £33
{4) Both (1) and 3) —

...... of a prodigious height a

131. Choose the word nearest in meaning to the un?ieﬂined word : ‘
L )

extent.”
(1) tall (2) large £ &) marvellous
132. Identify the Part of Speech of the underlined Wo?dim the expression : ‘o to die with grief!
(1) Adverb (2) Adjective (3)"“‘“’“"’"Conjunction (‘4‘1)/ Preposition
40

L T

0 me,

emberg
the gre



| _ After realising that the ship h

5 (1) felt amused ad left, the Narrator....,
(3) was relieved 2 was shocked
St ; (4)  did not react
134. The ‘White dome finally turned ou (o be

(9, a massive egg
(3) a place of worship 2 a royal palace
«4).. a luxurious mansion

135. What did the narrator do after reachmg“tl{é‘ island ?

E™

(1) He took endless stro]s aro

He gathered fruits ang flowers
(3) He chatted with his colleagues o
(4) He sat down for a filling mea] i

136. Which of the following is NOT af e
(1) More focus on form than m;fég;? ¢ }Commumcahve approach ? |

(2) = Contextualised use of language . : :

@) Discovering rules of grammar j 15t
. Instead of teachi licitly.
(4) Developing communicative ‘competence. e exp ‘.

137. Readuslfuct)tr Wriﬁng lp,’ as ‘b’ or ‘6’ as ‘Y is a comnﬁon error among children with :
/(/1’)/ e“.ng- (2) Aphasia. (3) Anomia. @) Dyslexia.

138. Whchijof tI.1e following is NQT an examplé-of formative assessment ? _
. A series of oral and written tasks,.role-play etc. throughout the session.
(2) A term-paper at the end of the session. o ; :
3) Af. combination of a comprehensive written test and few other tasks scattered over a period
of time. . B el D - ' ~ 5 ‘
(4) . Assessment strategies ranging from gﬂdrt tests to peer-reviews throughout the session.

139. Basic Interpersonal Communicative Skills_is known as :

(1) Higher order language skills. ey :
Language of abstraction. . =

(3) Language used for day-to-day communication.

(4) Interlanguage. e

140. Which of the following would not help in textual comprehension and vocabulary development ?

(1) Word-maps. A2) Alphabet charts. | _ GEy
(3) Theme-maps. (4) : Picture dictionaries.

141. Which of these statements is CORREC’E?Eéarding the two major types of assessment ?
(1) Formative assessment focuses on the form rather than function of learning.
(2) Summative assessment is about the um total of every form of assessment through the year.

P Formative assessment goes on cof?ﬁriﬁously through the learning phase.
5 : ;

,,,,,,

Summative assessment is done béfote and during the learning phase.

142. When a beginner reader uses his/her 'é;é:%ral kr}owledge,aboutthe text theme, cultural aspects
etc. to make sense of the specific texm%;”gg?tent, it is called : »
(1). Top-down approach. {(2)' Top-up approach.
3) Bottom-up approach. (4) BOttom'dOWn approach,

T bt ' i -




A

I
€x ]é,()n \
1t ™
YAmfw
Yoy th Uy,
Ink )
Y

ing students provideg
Jindi-speaking ] S the
to Hindi LI |
A teacher teaching English as second he in FEnglish wnlhoull' lc]llng fhem
and “l’l"""“"“'“‘s‘m engage in little « ; hoy use in their conversalions. ’""du_a]]
She presents examples Defore them which they (oacher. Which model/ approach
a s h Nt b s 4 ",
up with rules on their own with the help of the (€
tmchor is (0"0\\'1’"}; ?

& o " > % H ( ) L 2)
A1) Grammar translation methoc ;((4) Direct method.

143. language

onversatio

Audio-lingual method.

. d P
(3)  Communicative approach.

. i i > au;‘e :

(1) Most errors are caused by . ers and their stage of learnin
((‘?;) Errors are a window into the minds of the S rners 3

a8 ; lea
(3)  Errors indicate a lack in the undgr‘lstandmg of tcl;e fvation
(4)  Errors show extent of concept development and m

145. Which one of the following is NOT true about an assessmen 2
(1) It provides a holistic view of the student’s progress.
@ 1 presents concrete evidence of the student’s performance.
(3) It helps to evaluate the pace of a student’s progress.
(})- It can only be done by the teacher.

146. Which of the following DOES NOT’:HE:IEp in creating an inclusive classroom __?
(1) Peer-group interaction and feedback system.
(2) Giving team-tasks,
(3)  Adopting a multilingual approdch.

{4) Having some students as monitors in the class.

147. Which of the following is NOT a deéir_able feature in children’s literature ?
(1)  Animal characters. {2)  Explicit moral values.
(3)  Big font size and familiar words, (4) Attractive pictures.

148. Which of the following is NOT considered a major domain of learning ?

(1) Cognitive (2) Socio-cultural (3) Affective (4)  Psychomotor

149. Which genre of stories are the mos eev
(1) Folktales.
(3)  Science fiction.

ant to propagate multilingualism and multiculturalism
(2 Autobiographies,
(4)  Lengthy tale.

Krashen ? gk oyt s true ‘regarding the Monitor Hypothesis given by Stepht

(1) Itis used in the context of secorig
(2) It is based on the relationshj
(3) What is “acquired’ helps in
(4)  The learner can only monit

P-1 RIS 42 J

Ianguage acquisition,
p between acquisition and e

S arning.
monitoring what {g
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